2023 AR A A R Sy R IR VRO
LARE L (1) B E R Vo bk

— GRFR (AL 12/, B/ N3 43, 336 47)

e 1 2 3 4 5 6
BR D A D B C B
e 7 8 9 10 11 12
BR B A D C A C

VR ORRGEIL 6 /NI, B/ NEL3 53, 361853

13. =2 14. P47 15, QAR A A TEAER — 2k LA IR AR 55 P9 b
16. 0.6 17. 1 18. DB

= BREB ORI 6 /N8, 346 41)

19. ARG 73 6 43 , /M3 43)

(Da*-25=0 (2)(x - 1) =64
. x*=25 e 14y fhex—-1=+8 e 143
x=+5 e 34y x=1+8 e 24y
X, = 9,0, =7 e 341

20. (AR B3 643)

(19 34
Q) mE 64>
PANGS 8 )
feczl=22,(B8) e s
S AB//CD, (RO MAARSE I ZHA) e 34y
53+ 24 =180°, (EAAT, AZEAMERN) e 4%
/32750 (BE 54y
S /4=105° 64%

22. (A 8 41)
fi#t: - AB//CD, (EVAD)

S ZABC = /ZBCD. (WHEZAAT, NEEMAARSE) e 2%
/1 =22, (85

S /ZABC-2/1=2/BCD - 22, (FFRMEmR) 0 e 545
Bl/EBC=/FCB., e 745

~BE/J/CE.(MASfMISE ML) e 843



23. (A5 73 843 )
(Df#:n 24
MR .
ont <t n < (n+ 1)
n<Jni+n<n+1
SEOBGR Y N . e 445
(Dfff V20 = V& + 4
/20 BB 43 4
La=4 5%

132 = 11* + 11

s 132 BEE BG4 R 11
b=11 74y

24 (A4 1257)
fitt: (xS EM/EEG//AB.

~AB//CD,
~EG//AB/CD, 143
. /ABE + /BEG + £GED + ZCDE =360°, e 243

*/BEG + /DEG = /BED = 80°,
S ZABE+ ZCDE =280, e 341
“» ZABE MlZCDE W& T F,

- /EBF = éLABE ,/EDF = %ACDE . e 4%y

. /EBF + /EDF = %(LABE +/CDE) =140°, e 54y

. /BFD=360° - (ZEBF + ZEDF + ZBED) = 140°,  «--er 64y
(2)- ZABM = %LABF,LCDM = %ACDF,

~/ABF=3/ABM,/CDF=3/CDM.  .ee 75y

" ZABE 5 2 CDE Wi I E A2 T A F,

- /ABE =6/ABM,/CDE =6/CDM,  eeeess 84y

(1) ZABE + ZE + ZCDE =360°, e 94y

S 6LABM +64CDM + LE=360°, e 104y

A M GVEMN/AB, B iE/M = ZABM + ZCDM,  +eeee 114y

S 6/M+/E=360°. 1243



